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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 301 362 400 762
AER1TH 1,033 1,168 1,279 2,447
EARI2TH 1,212 1,084 1,423 2,507
A R T 2,280 2,346 2,568 4914
BEBRT1TH 541 541 593 1,134
B ERT2TH 412 419 465 884
B ERI3TH 317 355 336 691
B ERTATH 527 483 521 1,004
B EBRTSTH 829 900 909 1,809
B EET6T H 367 404 424 828
HiF = HT 546 607 646 1,253
45 KHT 466 529 559 1,088
HHT 1,017 1,131 1,258 2,389
BEHT 51 55 57 112
A K BT 628 734 744 1,478
7 HT 437 449 459 908
RICET 465 507 535 1,042
FORHET 204 200 234 434
RFHT 212 215 247 462
KHET 367 344 384 728
KET1TH 236 247 287 534
XKET3TH 293 349 326 675
KET4TH 884 830 1,031 1,861
fit] LLI BT 2416 2,802 2,898 5,700
JE LT 979 1,114 1,229 2,343
EHERT2TH 305 442 435 877
EHERISTH 436 529 550 1,079
EHERT4TH 384 453 479 932
EHERSTH 328 385 458 843
EHERT6TH 212 284 267 551
EAERET7TH 167 253 257 510
=Y:i 333 340 397 737
8 [F T 1,568 1,435 1,668 3,103
=i ET 506 550 620 1,170
2l 3t BT 478 595 569 1,164
N =15 103 118 124 242
+HEFRT A 640 652 714 1,366
L EFHTER 851 751 856 1,607
L HAET 1,975 2177 2,262 4,439
LFH¥ABT1TH 74 123 122 245
LH¥\ET2TH 158 158 180 338




BT 4 HH 5 £ i
LFEI3TH 152 147 178 325
L¥AET4 T B 165 180 204 384
LFEISTH 213 267 292 559
I == HT 205 214 238 452
JOSFET1TH 565 540 565 1,105
JNsFET2T H 547 526 566 1,092
JO=fET3TH 418 440 412 852
M=rET4T H 1,107 1,125 1,137 2,262
I S5k T 586 610 664 1,274
I=F5di) 226 215 252 467
Jt B BT 30 38 38 76
E[d:) 413 363 346 709
478 = HT 817 936 994 1,930
FHRHET 80 87 96 183
1 2 FF T 332 374 405 779
BEFE1TH 90 114 128 242
BEFE2TH 287 331 343 674
T EHT 128 142 140 282
/A BB T 3,079 3,141 3,347 6,488
1R T 257 291 310 601
YEZF HT 751 741 813 1,554
EXBI1TH 266 245 272 517
=/ LLIHT 222 162 130 292
Hh ek HT 25 25 5 30
T A EHET 10 13 10 23
TAHHEE1TH 735 690 721 1,411
THHEE2TH 522 569 567 1,136
THHEESTH 813 839 964 1,803
TEHE1TH 190 191 185 376
TEHRI2TH 816 766 883 1,649
T¥HEI3TH 166 169 185 354
TEHRI4ATH 92 96 111 207
TEEI5TH 222 241 247 488
T HAET 577 614 649 1,263
TET1TH 360 356 375 731
THAERT2TH 464 446 493 939
TH¥BISTH 202 201 230 431
TH¥ABRT4TH 155 154 186 340
TH¥BISTH 151 171 190 361
HTAEHET 23 22 9 31
ikl 191 195 190 385
#8)11 BT 44 44 54 98
KT HT 303 325 351 676
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7B KHT 1,686 1,715 1,875 3,590
FSIED 272 327 321 648
XLAT1TH 851 791 933 1,724
X#ILET2TH 318 347 367 714
X#ILET3TH 151 159 167 326
1 [ BT 48 65 77 142
hHET1TH 361 386 417 803
hHET2TH 463 489 535 1,024
hHBEI3TH 433 513 521 1,034
aiEld:) 260 245 290 535
th 2 JEHT 225 212 245 457
ch T 124 125 163 288
TR AHT 771 885 888 1,773
At FAET 882 887 1,033 1,920
75 K ERET 793 987 1,022 2,009
75 2 [N HET 1,652 1,850 1,973 3,823
JAHT 801 779 878 1,657
$FHET1TH 536 467 533 1,000
$FHET2T H 402 392 453 845
¥FHETST B 202 212 230 442
T 165 218 225 443
HET1 T B 380 481 498 979
HET2 T B 350 370 400 770
HET3 T B 355 394 441 835
HET4 T B 117 111 139 250
AN ) 990 1,077 1,124 2,201
J\ EHHT 162 204 199 403
T 4 BT 252 291 326 617
T A HT 1,841 1,896 2,051 3,947
THB1TH 24 22 21 43
T4HB2TH 1,452 1,381 1,349 2,730
T4HBI3TH 188 168 169 337
T4RBI4TH 368 307 377 684
T4RB5TH 952 687 961 1,648
T4HBI6TH 605 594 643 1,237
THRI7TH 356 389 423 812
T4HBISTH 393 421 434 855
THRBOTH 393 467 509 976
T4WB13TH 312 354 397 751
AR NBHT 1,981 1,730 2,000 3,730
HARRHET 1,353 1,250 1,236 2,486
HARRK/ERET 290 376 389 765
F AR JEHT 166 172 179 351
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HEZ HH 5 = 5
- WNEL] 132 121 132 253
FH AR hHT 199 225 261 486
FHARAKHET 442 467 503 970
& ARl 324 349 387 736
HARE)IIHT 294 275 304 579
=N ] 107 118 135 253
FH AR JTHT 103 98 114 212
EARERHE 673 584 680 1,264
B K BRHET 387 399 402 801
Edsa] 882 895 1,015 1,910
BIERT1TH 762 734 761 1,495
BEFET2 T H 598 606 674 1,280
BEFEISTH 351 413 416 829
AFTET1TH 417 378 425 803
AIFFRT2T B 600 611 667 1,278
AIFTET3T B 610 700 759 1,459
A HT 184 211 197 408
B LH 220 287 303 590
NEL] 799 784 848 1,632
ERL 744 927 922 1,849
= HHT 1,736 1,934 2,029 3,963
HEXHRET1TH 583 649 679 1,328
HLIRET2TH 510 600 648 1,248
HLAREISTH 296 376 375 751
P fx T 319 369 402 771
mERI1TH 1,145 1,130 1,274 2,404
mERI2TH 833 954 1,060 2,014
FA T 1,338 1,397 1576 2,973
= RITET 530 511 552 1,063
= AHT 340 273 341 614
AR#HT 10 8 4 12
=) 501 578 527 1,105
SHET1TH 711 632 796 1,428
S HET2TH 403 446 468 914
aHEI3TH 856 744 913 1,657
S HET4TH 770 647 858 1,505
E& T 1 1 0 1
J\BRET1TH 207 269 264 533
J\BRET2T B 215 230 232 462
J\BRET3T H 243 292 305 597
1T HT 290 429 416 845
FHeEIBRT1 T H 164 197 207 404
FHREIBRT2TH 303 438 466 904
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HEZ HH 5 £ 5
FIEIET3 T B 105 174 170 344
EOER1TH 36 58 52 110
EOER2TH 0 0 0 0
FENOERITH 24 21 3 24

HwEEt 88,508 | 92,508 | 100,178 | 192,686
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